

The the continuous dependence of solutions of a functional equation on given functions

by J. Krasovský (Kutná Hora)

The subject of the present paper is the problem of the continuous dependence of analytic solutions of the functional equation

$$(I) \quad \varphi(z^2) - \varphi(z) = f(z),$$

where f, g is any given functions, z is real or complex and z is a complex variable. Together with (I) we shall consider a sequence of the equations

$$(II) \quad \varphi(\lambda_n z) - \varphi(z) = f_n(z),$$

We shall assume that

(A) f_n is analytic in the domain $D_n \subset \mathbb{C}^1$ and the boundary of D_n contains at least two points $z_n, \lambda_n z_n$ ($n = 1, 2, \dots$), and $\lambda_n \rightarrow \lambda$ ($n \rightarrow \infty$), $\lambda \neq 1, \lambda \neq -1, \lambda \neq -\lambda^{-1}, \dots$

(B) f_n and f are analytic functions in $D_n \subset \mathbb{C}^1$ and $f_n \rightarrow f$ ($n \rightarrow \infty$) uniformly on D_n and D ($n \rightarrow \infty$) for $n, k = 1, 2, \dots$

It follows from W. Sierpiński's theorem [1] (see also [2], pp. 181-182) and Lemma 1 in [3] that under hypotheses (A), (B), equations (I) has exactly one analytic solution φ_n in D_n .

Suppose that

(III) $\lambda_n \rightarrow \lambda$ ($n \rightarrow \infty$) and uniformly on the open compact $E \subset \mathbb{C}^1$ the f_n converge uniformly to f ($n \rightarrow \infty$) and $\lambda_n \rightarrow \lambda$ ($n \rightarrow \infty$) and $\lambda_n \neq 1, \lambda_n \neq -1, \lambda_n \neq -\lambda_n^{-1}$ for $n = 1, 2, \dots$

The functions f_n satisfies (I) and the functions φ_n satisfy (II) then equation (I) has the unique analytic solution φ in E .

We shall prove the following

Theorem. Under hypotheses (A)-(III) φ_n tends to φ uniformly on every compact $E \subset E$.

For the proof we need some lemmas.

¹It is particular, the relation (I) is also a well known form Schwarz's theorem stated in the hypothesis postulated above for (I) for $\lambda_n = 1$.

Lemma 1. (i) the function f^d (finite hyperbolic field), also the expression (17) of the function g^d is both in \mathcal{F} uniformly on every compact $d \in \mathbb{N}$.
 The proof of this lemma may be found in [11].

Lemma 2. $e^{d^2 \pi i} \mathcal{F}^d$ tends to $e^{d^2 \pi i} \mathcal{F}$ as $d \rightarrow \infty$ for $d = 1, 2, 3, \dots$.
Proof. Since

$$e^{d^2 \pi i} = \frac{1 - e^{2d\pi i}}{1 - e^{2\pi i}} \quad \text{tends to } \frac{1 - e^{2d\pi i}}{1 - e^{2\pi i}} = e^{d^2 \pi i},$$

Lemma 3 holds for $d = 0$. Writing u_n in place of u in equation (1) and differentiating it twice, we obtain

$$\begin{aligned} (11) \quad e^{d^2 \pi i} u_n''(u_n) &= \sum_{k=1}^n e^{d^2 \pi i} u_k' \mathcal{F}^d(u_k) u_n' - e^{d^2 \pi i} u_n'' \\ &= \sum_{k=1}^n \left(\frac{u_k'}{u_n} \right)^2 e^{d^2 \pi i} u_n'' - e^{d^2 \pi i} u_n'' \end{aligned}$$

where $\mathcal{F}^d(u_k) = \dots, u_k$ is substituted by u (variable independent of u). Putting $u = 0$ in (11), we get

$$\begin{aligned} (12) \quad e^{d^2 \pi i} u_n'' &= \\ &= \frac{e^{d^2 \pi i} u_n'' - \sum_{k=1}^n e^{d^2 \pi i} u_k' \mathcal{F}^d(u_k) u_n' - e^{d^2 \pi i} u_n''}{1 - \mathcal{F}^d(u_n)} + \frac{\sum_{k=1}^n \left(\frac{u_k'}{u_n} \right)^2 e^{d^2 \pi i} u_n''}{1 - \mathcal{F}^d(u_n)} \end{aligned}$$

hence we obtain

$$(13) \quad e^{d^2 \pi i} u_n'' = \frac{e^{d^2 \pi i} u_n'' - \sum_{k=1}^n e^{d^2 \pi i} u_k' \mathcal{F}^d(u_k) u_n' - e^{d^2 \pi i} u_n''}{1 - \mathcal{F}^d(u_n)} + \frac{\sum_{k=1}^n \left(\frac{u_k'}{u_n} \right)^2 e^{d^2 \pi i} u_n''}{1 - \mathcal{F}^d(u_n)}$$

Suppose that $e^{d^2 \pi i} \mathcal{F}^d$ tends to $e^{d^2 \pi i} \mathcal{F}$ as $d \rightarrow \infty$ for $d = 1, 2, 3, \dots$. Then from (12) and (13) we see that

$$e^{d^2 \pi i} \mathcal{F}^d \rightarrow e^{d^2 \pi i} \mathcal{F}$$

and inclusion completes the proof of Lemma 3.

Lemma 3. The expression (14) of solutions of equation (1) is correct locally in \mathcal{F} .

Proof. It follows from (1), (11) and (13) that there exist $d \in \mathbb{N}$ and $\varepsilon > 0$ such that

$$(14) \quad (1 - \mathcal{F}^d) \mathcal{F}^d(u) = \mathcal{F}^d(u), \quad u = 1, 2, 3, \dots, \quad \text{and } |u| < \varepsilon,$$

where h is P or Q .

$$(2) \quad h_{\alpha}(z) \in \mathcal{A}, \quad \text{for } \alpha = 1, 2, \dots, q, \quad \text{and } |z| < r,$$

but we choose a positive integer n such that

$$(3) \quad P^n \in \mathcal{A}.$$

Obviously every analytic solution of equation (2) may be written in the form

$$(4) \quad h_{\alpha}(z) = P_{\alpha}(z) + Q_{\alpha}(z),$$

where

$$P_{\alpha}(z) = \sum_{j=0}^{n-1} \frac{z^j a_{\alpha j}}{z^j},$$

and $Q_{\alpha}(z)$ is analytic in E .

It is easy to verify that $h_{\alpha}(z)$ is an analytic solution of the equation

$$(5) \quad P(h_{\alpha}(z)) - a_{\alpha} h_{\alpha}(z) = h_{\alpha}(z),$$

where

$$h_{\alpha}(z) = h_{\alpha}(z) + a_{\alpha} h_{\alpha}(z) - P(h_{\alpha}(z))$$

and $h_{\alpha}(z)$ may be written as $h_{\alpha}(z) = z^n H_{\alpha}(z)$, where $H_{\alpha}(z)$ is analytic in E . The last relation implies that there exists a $\delta > 0$ such that

$$(6) \quad |H_{\alpha}(z)| < \delta |z|^n \quad \text{for } |z| < r, \quad \alpha = 1, 2, \dots, q.$$

It is known (see [7], pp. 14-15) that the analytic solution of equation (5) may be written in the form

$$(7) \quad h_{\alpha}(z) = - \sum_{j=0}^{\infty} \frac{z^j a_{\alpha j} h_{\alpha}(z)}{\int_0^1 P(z) dz}.$$

For $|z| < r$ we have $|h_{\alpha}(z)| < \delta |z|^n < \delta$, and thus we get (7) and (6), (7) \Rightarrow (8), (9).

$$|h_{\alpha}(z)| < \sum_{j=0}^{\infty} \frac{z^j a_{\alpha j} \delta}{\int_0^1 P(z) dz} < \sum_{j=0}^{\infty} \frac{\delta r^j a_{\alpha j} r^j}{\int_0^1 P(z) dz} < \frac{\delta r^2}{\delta} \sum_{j=0}^{\infty} \left| \frac{a_{\alpha j}}{z^j} \right| = \delta.$$

Thus $\{h_{\alpha}(z)\}$ is a normal family in the disc $|z| < r$. From Lemma 4 we find that $P_{\alpha}(z)$ tends to

$$P_{\alpha}(z) = \sum_{j=0}^{n-1} \frac{z^j a_{\alpha j}}{z^j} \quad \text{as } n \rightarrow \infty$$

uniformly for $|z| < r$, and so also $\{h_{\alpha}(z)\}$ is a normal family for $|z| < r$.

Here we denote by F the maximal set of regularity of the sequence $\{g_n\}_n$. Evidently F is open. Suppose that $F \cap F' \neq \emptyset$. Then it follows from Lemma 1 that there exists a $z_0 \in F \cap F'$ such that $z_0 \in F$. Hence and from (1) it follows that there exists a neighborhood U_{z_0} of z_0 and an integer N such that for $n > N$ we have $z_0 \in U_{z_n}$ or F . One concludes that the sequence $\{g_n\}$ is normal at the point z_0 for $\{g_n\}_{n \geq N}$ is normal at z_0 and

$$g_{z_0}(z) = \frac{r_1(z, z_0) - h(z)}{z - z_0}.$$

Thus $F \cap F' = \emptyset$ and Lemma 2 is proved.

Proof of the Theorem. Suppose that the theorem is false. It follows from Lemma 2 that we can choose a subsequence $\{g_{n_j}\}$ uniformly convergent on every compact $K \subset F$ to $p \neq q$. Passing to the limit in the relation

$$r_{n_j}(z, z_0) - r_{n_j}(z, z_{n_j}) = h_{n_j}(z),$$

we get $r(z, z_0) - p(z, z_0) = h(z)$. Here p is an analytic solution of (1), we must have $p = q$. This contradiction completes the proof.

References

- [1] B. BOURGAIN, *Functional equations in a single variable*, Warszawa, 1961.
- [2] J. HOFFMANN, *On asymptotic solutions of a functional equation*, Ann. Polon. Math. (to appear).
- [3] W. PŁATEK, *On the solutions and asymptotes of asymptotic solutions of the Jensen functional equation* $g(x) = g(y) + g(2x - 2y)$, Axioms 14 (1987), pp. 12-16.

Depo polski w Katowicach 44-111, 4401